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4.

curved line, therefore not zero order

curved line, therefore not first order

Straight line, slope = +k

k = 1.05 x10* L mol™* s™

r= 1.05x10* L mol™ s [NH,]?
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straight line in a
concentration vs time
therefore it is zero order

m=0
k = -slope

k = 5.46x10°®

0.005

0.004

0.003

[HI] (mol/L)

0.002

0.001

0.006 l\ S T S

Y= 5.46E-06x  5.46E-03
R7=T1.00E¥00
X -
: \‘\ :
0 200 400 600 800
TIME ()

[HTY, = —546x(07° & + 64bx0™

= —5.46 x 107°(600s) + 5-46x(077

CH'—ll = 2.1%x (073 mal /.

graph



£
4

(L)

0.25 T— —

o
[N
i

=
© v ©
N W

[Cl,] (mol/L)

] ..... \

[SO,Cl,] (mol/L)
g &

0.05 |-

o

5 10 15 20 25 0 S 10 15 20 25
time (hr) Time (hr)

0 i . LI Y i T I g T 3
- ' e - Yo 0{6(@#6/\\\“/\6

in ([SO,Cl,])

‘C'\fOi’Y\ ESOZ.C(Z’X . d

fime (.hri 7

(e (= g.0ax(07 57'[So,¢, ],

el

(0{) K = .04 x (07 S

= [gozaz}o = X
[S0,c, ), = 0.05x & % AS2% react < 20 (8L

=904 x(067% S

ln (C____f__\SOZC(Zlo > =k&

[50,<, 5,
() __<§-o4>db'zs") L
0.0<S%

ln 20 = é.om(o'zf)é

£= 37.2 8



T a) AHT o> — Hy o t 12 Gy

k: O-06<O V—Y\L—;_\-S bC,Z <5{‘ k oands
the overcil ordler

0{‘ [ S

= k Co11™ ’
L ]2 1 /\’\':-Z-
= B HT
Y\ ©-0%0 mol -S [
(o
’——\""’ = "“(_’ + K‘(‘: CHI}O = (,§Omol/L(/
[eTye CHT]o T T, = 0.30mellL
L k- O.080 ﬁ(-s
\ B _J__ _
Ke= Cutle [HIlo
s
ke = C;,lg’o B RSe
K{=33%—- 0666

1=
L= 2.666.

— -
k= SRt =
/

—

060 o

t=32 ¢



